
Chapter 3 Practice 
 
1) Name each pair of angles 

a) 1 and 2   _______________ 
 

b) 4and 5   _______________ 
 

c) 4and 6   _______________ 
 

d) 3and 7   _______________ 
 

e) 2and 3   _______________ 
 

f) 1and 8   _______________ 
 

g) Which of these pairs of angles are congruent? 
 

 
 
 
 
 
 
2) Set up equations and solve for x and y 

Justify each equation with a theorem or postulate 
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AdjacentSupplementary LinearPair

Alternate Interior Angles
SameSideInterior Consecutive

Corresponding Angles

VerticalAngles

AlternateExteriorAngles

e 22 23 plus allotherpairs of verticalangles

No other angles here canbepresumed congruent because wedon'tknow that plly

2 2 7 137 180 LinearPair

2 2 36
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Converseofferpendiculartransversal saysthatplly

3y Ly 4 Ñ 137 CorrespondingAngles 315 25 72 137

315 215 72 137 75 10 72 1373y2y 4 8 137 3 9 72 137 137 137

3y 24 72 137 72 15 72 65 72 13 i µ
3y 2y 65 0 34 13 y 5 0 4 13,5 Bothwork



 
3) Given 6is supplementary to 7 

what can you conclude about the given lines? 
What theorem/postulate justifies your answer? 
 
 

  
 

4) Given m1 m4  90  what can you conclude 
about the given lines?  What theorems/postulates 
justify your answer? 

 
 
 
5) Find the equation of the line passing through the points (4, 0) and (–2, –3) in point-slope form. 

 
 
 
 
 
 

6) Find the equation in slope intercept form of the line perpendicular to the line in #5 and passing through the 
point (2, 4) 
 
 
 
 
 
 
 
 

7) Graph both lines on the grid 
to the right. 
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8) Write the theorem/postulate that matches the given statement. 

 
a) If 1 5then  _______________ 

 
b) If then  4  5 _______________ 

 
c) If4is supplementary to 6then  _______________ 

 
d) If then3 7  _______________ 

 
e) If 2  6then  _______________ 

 
f) If then  1 8 _______________ 

 
 
 
9) Solve for x and justify any equation you use with a theorem/postulate. 
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46 

44 

(x2 + 15) 

Converse of CorrespondingAnglesPostulate

Alternate InteriorAnglesThm

ConverseofSameSideInteriors
thm

CorrespondingAngles

ConverseofCorrespondingAnglesPostulate

AlternateExteriorAnglesthem

44746 90 p q

since both p and of
44

46
are perpendicular to d
l pllg but the 44

Converse of the perpendicular Transversal

Thim Alternate Interior
AnglesThm

2 15 44 180 LinearPair

x 121

Ill both work as solutions

11715 44 180
121 15 44 180



 
10)  Given: 1 is supplementary to 2  
                   2 3    

 Prove: p || q 
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